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Topic:- Child Development & Pedagogy (CDP)

1) All learning is by-and-large successful when it is / gt iferm ImHT=gE: Pd e
UrAEAEVE_ fewemargl

1. Resource rich / GHTYT JUA

2. Self-directed by the learners / Rrenffay gRT R RETAN |
3. Technology led / PIBIRCIER] ﬁ?jc_q’

4. Teacher led / TRI&® BT ﬁ?jc_d'

Correct Answer :-

o Self-directed by the learners / fRrenffal gr w@-fAdRE

2) Which of the following is the technique of classroom management where a student displaying
negative behavior is separated from the rest of the class? / fafafead a -1 DET UdY-q
Dt AP-IP ¢ A8l TPRIHD HATR USRI B ITAT TP BT AT H&T A (T g1 STl 82

1. Satiation technique / _g'@ dPp-ih
2. Extinction technique / oA do-ie

3. Corporal punishment / IRIN® &8

4. Time out technique / THY JHIE Th1PH

Correct Answer :-

« Time out technique / THT JHTE dH1h



Which of the following is not true about the demonstration method of teaching? / m 'el @'

P Rreor & siftraafe A & s A v T8 22

1. The focus is on the demonstration of concepts through experiments/activities / STYRUMSA BT

TS TN/ fohaTehaal R higd BT g |

2. It can be used for a multicultural classroom /WWW$&T%WWW
ozl

3. The learners gets an opportunity to parﬁcipate/ﬁﬁmﬁ@%ﬁ@ﬁww 3T fHAdT
gl

4. All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

Correct Answer :-

« All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

4) A 20 year old girl’s mental age is 12 years. Find her IQ. / T® 20 HTd P F‘l?ﬁﬁ &t S

S 12 919 8| S9! glgaisd FApiferg|
1. 100
2. 125
3. 60

4. 65

Correct Answer :-

5) The father of Intelligence tests is ./ g@ 'q-\ﬁ'&‘l'uﬁ GG %:I
1. Francis Galton / HiR e

2. James Cattell / @T{[%ﬂ
3. Alfred Binet / 3fabe faq
4. Karl Pearson / CARIPLIE]

Correct Answer :-

+ Alfred Binet / 3Ahs fom



6) GDD is a developmental disability recognized in children who are ./ SISISt Th oo

wadh srgmaT 3 S dRaA o frewdt 31
1. below 5 yrs./ 5 T8 ¥ Bl =i A

2. age 12-14 yrs. / 12-14 TS B AT A

3. above 5 yrs./ 5 I8 U 31 & Tl A

4. above 18 yrs./ 18 Y A FW

Correct Answer :-

. belowSyrs./Saﬁ@@ﬁ%aEﬁﬁ

7) If the chronological age and the mental age of the child is 15 years. He will be classified into

which category? / Ufe =1 Ft STATIH AP MY 3R ARG Mg 15 a9 31 af 3 forsy goft
Tiffpa far smem?

1. Superior / 3
2. Normal intelligence / ITHII §@

3. Genius / UfaHT=ITE

4. Below normal intelligence / dTHY Tg’@ =

Correct Answer :-

« Normal intelligence / HHI Tg:@

8) According to Jean Piaget, cognitive development starts at stage / S Ut & SR,

TIATHS AP AT R I gar el
1. Concrete Operational /@-W

2. Preoperational / Eﬁ—w

3. Formal Operational / MR dfpares

4, Sensorimotor / Hadl U=y (@ﬂﬂ'ﬁh??)
Correct Answer :-

« Sensorimotor / Haal U= (@m

9) According to Jean Piaget, preoperational children are/ S fUars & SR, qﬁ-ﬂm
AT & T B 5Id o2



1. Egocentric/ SHDIGd @ﬂm

2. Flexible/ T (FAfaqaa)
3. Complex/ Sfed

4. Social / THTIIR

Correct Answer :-

» Egocentric/ MG IEd @ﬂ@%

10) What concept takes into account an individual’s mental and chronological ages? /

ol cafea &Y arfre iR STargH e g FIH-A YR e # T@dl 82

1. Cognitive quotient / HITTHD HTTH A

2. Intelligence quotient / gm

3. Intellectual quotient / d\lfqacb HTh A

4, Functionality quotient / & il HITh S

Correct Answer :-

« Intelligence quotient / m

11) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or

religious group?/mmmmﬂmﬂ%%m%mmmﬁmﬁ%
fere f5 e o1 U o SiTaT 82

1. Prejudice / U&UTd
2. Racism / T¥1dlq
3. Enmity/_g';m:l:ﬁ

4. Fanaticism / P &l

Correct Answer :-

o Prejudice / U&UTd

12) What type of memory may be involved in carrying out complex mathematical problems? / \_!‘lﬁ?[

T e @ R HA # fha uoR 3t Wfa aftrfd g aodl 82
1. Iconic memory/q'%lﬂmﬁﬂ% (mm



2. Echoic memory / UfcIedf= Fﬂﬁf (ThIgdh HERY)
3. Working memory / I gﬂﬁf (aﬁ?ﬂ ﬁtﬁﬂ)

4. Sensory memory / Tad! Fﬂﬁf (@ﬂff ﬁ'ﬁﬁﬂ)

Correct Answer :-

« Working memory / T¢I F:jﬁf (Ollrac;)‘l ﬁ'ﬁhﬂ)

13) In which stage of Piaget’s theory of cognitive development do children develop the concept of

conservation?/W%WW%W%mWﬁﬁﬁwmwm
feRagar s

1. Concrete operational stage / Hﬁﬂw SHART

2. Post-formal stage / URe- 3T SawT

3. Pre-operational stage /Uﬁ—w S{ARIT

4, Formal operational stage / 3= TiharaTes gt

Correct Answer :-

« Concrete operational stage / Hﬁw SIIRYT

14) Thorndike’s Law of Readiness is also known as: / Q-IF[@TEE?; & daRal & a9 $I ERUGIE g
W ST ST B:

1. Law of Exercise / 3% &I 99

2. Law of Effect / THTd &1 (AT

3. Law of Action Tendency / Eap ‘;lq'f%f &1 a9
4. Law of Set or Attitude / §< T IFﬁqﬁr &1 |

Correct Answer :-

+ Law of Action Tendency / Eap EIQ'[-;([ &1 |

15) Which of these includes unhappiness when defining abnormality? / SIRITHTRIT P ufeHTia Fed

g 378 | foraw Arg=it e @2
1. Danger to self/others/ T4/3=0 & T 91dH
2. Deviance/ Taaa

3. Dysfunction / IECAR



4. Distress/ ﬁ@T

Correct Answer :-

o Distress/ ﬂTST

16) Which of the following is not an individual difference that affects learning? /

FrafafEa & 3 #9-a1 e safdea siar 18 8 <Y ftrm &t gutfya wrar 82
1. Gender / T

2. Height / TS

3. Socioeconomic status / AT -3 FRUfd

4. Caste / SITfdl

Correct Answer :-

. Height/@ alé

17) Which of the following is not a part of working memory? /fFrafeafea # 9 o9 srdia giﬁf
&1 few 151 82

1. Central executive / PAIT PRAGRT (Vg Tayagfed)
2. Phonological loop / TR-TART Taeht Ur=r (BTG d )

3. Episodic buffer / Qlﬁﬂll3$ dhR
4. Sensory register / ﬂa_qpf e

Correct Answer :-

» Sensory register / ﬂé‘cﬁ IfoReR

18) A child-friendly learning environment shall have / b TP ﬁﬂ! P d STRRTH qraTaror &
= g

1. Learner discipline / RI&T off TR

2. Learner autonomy / fRremef o T
3. Linear exposure / IR TR

4, Teacher authority / Riér &1 fUPR

Correct Answer :-



« Learner autonomy / Rrgndt ol Taraarn

19) Castration anxiety occurs in which stage of psychosexual development? / A faer &t

P A} a1 H FeaduT foidT (SR Togdl) gidl 32
1. Anal /7]al (Ucl)
2. Oral/ﬁm(m)

3. Latency / Yl (ﬁ%}tﬂ)
4. Phallic / AT (Bfe1p)

Correct Answer :-

. Phallic / A (Wfcr)

20) Rehearsing for later relationships is called

1 918 & fezal & o yahay we1 e 8:

1. Developmental Socialization / fAhIITHS THTSHHRUI
2. Secondary Socialization/ fedtae Tt

3. Primary Socialization/ B FHTSIIHROT

4. Anticipatory Socialization/ Yc|XK[IHD HH [SHHRU]

Correct Answer :-

 Anticipatory Socialization/ YHIRITHD H [SHHRU]

21) children from disadvantaged groups are less likely to have good nutrition, access

to good health care, and opportunities to /ﬁﬁlﬁ H'F‘Iff% TI B 3T
?w,a@wmmwugaaﬁv & AAR] DI AHTIAT HH gl
I

1. Play / @@
2. Learn /?ﬂ@%[
3. Study / H&HYq

4. Enjoy / 3TFig

Correct Answer :-



e Learn /Fﬂ@ef

22) CANCELLED

“Individuals are born without built-in mental content, and therefore all knowledge comes from

experience or perception.” This notion is referred to as ./ vagfadd o= foht Gﬁmﬁ
AHRI® UH30l & UeT g1d &, 3NT SHfee Jt 1 3gYa a1 YRom & 3md 17 39 YRon
Gal & ¥u ¥ Aeffa frar wmar 31

1. Tabula nota / ALY 1T (AT AleT)
2. Tabula rasa / HTGH H:RRYfA (e I
3. Tabula primus / ATIH UGl (AT UISHY)

4. Tabula novus / TTYH T (AT -Aa¥)

Correct Answer :-

« Tabula rasa / ATGH H1:IRUTT (e Ir4)

23) CANCELLED
Benchmark assessment is also known as: / STHTH STHAT BI gg W Dol Slldl %:

1. Summative Assessment / q\l‘lld-lcb HTh

2. Diagnostic Assessment / i'\'ldl"lld-lob Hlch i
3. Interim Assessment / 3IdRH 3fTHTT
4. Formative Assessment / ﬁﬂfUTW SAlh A

Correct Answer :-

« Interim Assessment / 3TN THAT
24) CANCELLED

In big 5 model, personality types are distinguished based on /33 sHISd ﬁ, i &

THR & MR R fafkre feg &ma 31
1. Culture personality/ <1 | P fae Afada

2. Personality traits / fadid fafyar

3. Emotional intelligence / HIdh g




4. Season based/ T3 STUTRd

Correct Answer :-

« Personality traits / HfadiTd m

25) CANCELLED

In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and then

during young adulthood is called / m%mﬁ, Wmaﬁ P AMHAR W
%@W%ﬁﬂg%ﬁﬁwm%ﬁa%mm%aﬁ?ﬁwwm%m
RGN

1. identity, basic trust/ Ugdl-, Hd fayrg
2. identity, intimacy / UgdI, STHTT
3. intimacy, identity / 3{ARITdI, UgA

4. basic trust, identity/ H{cI ﬁ”dm , Ugdld

Correct Answer :-

« identity, intimacy / g9, fT&adl

26) CANCELLED

According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he
called_ ./ UGS & SII9R, 919 TS R @TUT 7-9 A1 &1 39 a6 Ugaar g, ai d
ReRMERTRIRRATER_ @erdl

1. Egocentrism/ slilﬁlléﬁ

2. Personal fable/ quarl‘l(‘l dOrc'\Hd

3. Object permanence/ d¥q B IBor|
4, Inductive reasoning/ ANTHATHD GC2

Correct Answer :-

+ Object permanence/ 9] QT

27) CANCELLED

The condition wherein an individual loses awareness and flees his own identity is known as

agf@rﬁrﬁwﬁaﬁéw%rm@ém%ﬁﬂmﬁwﬁm%m%
P EUAEHEISE gl




1. Shock / 3TUTd
2. Repression / qH

3. Trauma / AHfETd
4. Fugues / W1

Correct Answer :-
« Fugues / W
28) CANCELLED

The way a person presents any information in his/her brain is an example of his/her. / ] aje I

%ﬁéwﬁrmmﬁﬁmaﬂmaﬁwm%wmﬁﬂmm

1. Personal characteristics /@W G‘Ff\‘l-lﬁ&FUT
2. Cognitive characteristics / ST S{THTET
3. Emotional characteristics / lﬂa'q:uf WW&WT
4. Academic characteristics /QT&‘TUT Giﬁ-la&l'UT

Correct Answer :-

« Cogpnitive characteristics / IATHD Sfeem

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/% g+t ufaferar
H ¥ BT g B ufaATia H= gadr 8-

1. lack of intelligence /qu@ﬁ HH

2. Incompetency/&l'chw

3. learning disability SITRTH 3ferHdT

4, emerging in learning / ST H SUAT

Correct Answer :-

e emerging in learning / STIRTH H IHRAT

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor
affecting learning is -/ T BT H&T A Tg1 WG UT 38T 8 FP ITDT UTelr U] St 781 8
SR B gUIfId HA aTe gad GHIfAd RS @



1. lack exercise/ H¥IH CAKE

2. adverse emotional condition/ Qﬁw YTaTdT o FRufd
3. lack of sleep/ '_‘ﬁ?{ P HHI

4. lack of nutrition/ TIyuT & HH

Correct Answer :-

« adverse emotional condition/ Ufdidr el HTA-THD TRUfd

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

The branch of physics that deals with living organisms is called --physics.
1. meta --

2. bi--

3. bio --

4. geo --

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

The company responded decis-- by sending the work overseas.

1. —ion
2. —-ive
3. —-ively
4. --ous

Correct Answer :-

3) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and



Brooklyn District across the East River. Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a
cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise
82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had
carriageways, cable railway tracks and an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million
cars crossing daily. The cable railway tracks were removed in 1944, but New YorKkers still stroll, bike or jog along the walkway, which
was restored in 1982.

‘Which is hailed as the world's eighth wonder?
1. The Howrah Bridge

2. The Suez Canal

3. The Brooklyn Bridge

4. The Taj Mahal

Correct Answer :-

® The Brooklyn Bridge

4) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

Which river does the Brooklyn Bridge stretch across?
1. Missouri

2. Mississippi

3. East River

4. Ohio

Correct Answer :-

e East River

5) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the



first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

When was the walkway restored?
1. 1972
2. 1962
3. 1982

4. 1952

Correct Answer :-

6) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

How many years did it take to build the Brooklyn Bridge?
1. 14
2. 12
3.20

4. 15

Correct Answer :-

7) Read the passage carefully and answer the question given below:



Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some
others have a few bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead
completely independent lives, unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for
example, in the tendons under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone,
lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the circular bone in front of the knee; it is
also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below
the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can compress
important arteries that supply to the upper limbs.

‘Which is the largest sesamoid bone in the human body?
1. Clavicle

2. Patella

3. Skull

4. Thigh

Correct Answer :-

e Patella

8) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some
others have a few bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead
completely independent lives, unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for
example, in the tendons under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone,
lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the circular bone in front of the knee; it is
also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below
the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can compress
important arteries that supply to the upper limbs.

Where is the pisiform bone found?
1. In front of the wrist

2. Ankle

3. Ribs

4. Thigh

Correct Answer :-

e In front of the wrist



9) Which one of the following is the correct reported speech of the given sentence?
The boss said to the peon, "Bring the file.”

1. The boss was ordering the peon to bring the file.

2. The boss asked the peon, bring the file.

3. The boss ordered the peon to bring the file.

4. The boss told the peon for bringing file.

Correct Answer :-

o The boss ordered the peon to bring the file.

10) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however,
have a few bones more while, some others have a few bones less! The commonest extra bones are
those which grow inside certain muscle tendons. These bones lead completely independent lives,
unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may
grow, for example, in the tendons under the big toe. Some sesamoid bones, however, grows in
everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid
bone in the body is the patella. The patella is the circular bone in front of the knee; it is also known
as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs,
either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For
example, extra ribs growing in the neck can compress important arteries that supply to the upper
limbs.

Where is the Patella situated?
1. In front of the knee

2. In the wrist

3. In the ankle

4. On the shoulder

Correct Answer :-

® In front of the knee

11) Read the passage carefully and answer the question given below:



Some people may have extra bones. There are 209 bones in the human body. Some people, however,
have a few bones more while, some others have a few bones less! The commonest extra bones are
those which grow inside certain muscle tendons. These bones lead completely independent lives,
unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may
grow, for example, in the tendons under the big toe. Some sesamoid bones, however, grows in
everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid
bone in the body is the patella. The patella is the circular bone in front of the knee; it is also known
as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs,
either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For
example, extra ribs growing in the neck can compress important arteries that supply to the upper
limbs.

How many bones does a human being have on an average?
1. 209
2. 203
3. 506

4. 200

Correct Answer :-

e 209

12) Which of the following options best combines the given sentences?

It is not a good thing. Don't feed the animals in a zoo.

1. It is not a good thing in a zoo, so don’t feed the animals.

2. Itis not a good thing to feed the animals in a zoo.

3. Don’t feed the animals in a zoo because it is not a good thing.

4. In a zoo, it is not a good thing for feeding the animals.

Correct Answer :-

e Itis not a good thing to feed the animals in a zoo.

13) Choose appropriate articles for the given sentence:
stress of city life has effects on intellect.

1. The ... no article required

2. The ... the



3. No article required ... no article required

4. No article required ... an

Correct Answer :-

e The..the

14) Choose appropriate article for the given sentence:

She was faced with ___ unusual problem which could not be solved easily.
1. an

2. the

3.a

4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The intense heat caused great friction.

1. Great friction caused by the intense heat.

2. Great friction was causing the intense heat.

3. Great friction was caused by the intense heat.

4. Great friction had caused by intense heat.

Correct Answer :-
e Great friction was caused by the intense heat.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I will have to find a way to adapt myself to the new requirements.
1. surrender
2. accommodate

3. replace



4, match

Correct Answer :-
e accommodate

17) Choose the appropriate antonym for the highlighted word in the given sentence.

There are approximately 80 million people living in France.
1. precisely

2. roughly

3. under

4. over

Correct Answer :-

e precisely

18) Choose the appropriate conjunctions for the given sentence.

I am still confused __ to run for the 100 meter's___ the relay.
1. whether... or

2. as...as

3. either... or

4, if... then

Correct Answer :-
o whether... or

19) Choose the appropriate determiner for the given sentence:

Although a wide variety of drugs are available to ease pain, people still fear taking them.
1. many

2. none

3. every

4, few



Correct Answer :-

20) Choose the appropriate prepositions for the given sentence:

Looking ____ the forecasts ____ the world’s energy demands ____ the future is pretty frightening.
1. beyond ... through ...in

2. at ... for ... for

3. at...in ... with

4,0on..at..on

Correct Answer :-
e at.. for... for

21) Choose an appropriate modal for the given sentence:

He swim in any river as he is very capable.
1. should

2. may

3. must

4, can

Correct Answer :-

22) Choose the option that best explains the highlighted expression:
Kumar opened his heart to me.

1. shared his deepest feelings

2. abused me

3. showed his scars after a heart surgery

4. revealed his heart

Correct Answer :-



» shared his deepest feelings

23) Choose the most suitable pronoun for the given sentence:
This book is better than cover would suggest.

1. their

2. mine

3. your

4, its

Correct Answer :-

24) Read the sentence carefully and choose the option that has an error in it:

He gone to the conference to learn about government contracts.
1. to learn about

2. to the conference

3. government contracts.

4. He gone

Correct Answer :-

25) Choose the appropriate tenses to fill in the blanks in the given sentence:

Keval in this office for the last five years and a sincere worker.

1. has worked... is
2. has been working... is
3. working... is

4. worked... is

Correct Answer :-

¢ has been working... is



26) Choose the appropriate tense to fill in the blank in the given sentence:

Rashmi is a violinist. She often at concerts.

1. is playing
2. will play
3. played

4, plays

Correct Answer :-

27) Rewrite the following changing the passive sentence to active.

Every disaster affected victim has been compensated by the Kerala government.
1. The Kerala government has compensated every disaster affected victim.

2. The Kerala government have been compensating every disaster affected victim.

3. The Kerala government has been compensating every disaster affected victim.

4. The Kerala government had compensated every disaster affected victim.

Correct Answer :-
» The Kerala government has compensated every disaster affected victim.

28) Choose the right tag:

They need some new clothes & toys as well,  ?
1. don’t they

2. do they

3. didn’t they

4. does they

Correct Answer :-

e don’t they

29) Choose the option that substitutes the given phrase appropriately.



Agreed to by everyone
1. Unanimous

2. Anonymous

3. Unify

4. Anon

Correct Answer :-

¢ Unanimous

30) Choose the right tag:

You remember me, ?
1. are you

2. aren't you

3. do you

4. don't you

Correct Answer :-
e don't you

Topic:- General Urdu(L2GU)

Y LE bl L
. &M.fl..}_ﬁ;
b
2.
, ;I;/,-r‘
4, ‘:j/

Correct Answer :-
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Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /



gfe xy=1 o X+y+2 BT U %:
1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-1)(y+1)

4. (x-D(y-1)

Correct Answer :-

o (x+1)(y+1)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q c)p-8/
Frafafad o1 e #¥:-

ixd1 \‘:ﬁ@F-lT a) -5q

ii. p ¥ 8 eI b)x + 1

iii. -5 P q T O HIAT c)p-8
1.i—b, ii — a, iii — ¢
2.i—b,ii—c¢,iii—a
3.i—c,ii—a,iii—b

4. i—c,ii—b,ili—a

Correct Answer :-

e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./

TP g BT Jaiir e & Hrenw | yRaferd giar gl
1. Anecdotal record / Jdid (TTdsIed) @

2. Case study record / TG 3T (B4 o) AMHTD

3. Cumulative record / =l 3fHera

4. Scholastic record / A& SHfHerRa

Correct Answer :-

e Cumulative record / Tt Siftrerg



4) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting
cuboid is ./

10 I fFIR 9@ & 71 v RRY A 98 &, O aRomft ey s qdfiw dwa R
1. 1500 sq cm /
1500 T St
2. 1000 sq cm /
1000 T St
3. 500 sq cm /
500 & Tt
4.750 sq cm/
750 ¥ AT

Correct Answer :-
e 1000 sqcm/
1000 T I+t

5) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 YoTIait ATt SgYS & TP Y A 59 fpaA fawof Riffa s awad §2

1. 8

2. 10

3.9

4.7

Correct Answer :-

6) Which of the following statements is NOT true about whole number? /
Frafafaa & 3 gof Jemnsi & ddy & iF-a1 sy g 78 82
1. 0 is a counting number but not a natural number. /

0 Ueh TTUT A9 TRAT 8, Afh1 Ueb U T -1l 3|

2. The whole number 0 doesn’t have any predecessor. /



U1 EAT 0 D Pl YAadl T el Blch &

3. The additive identity of all natural numbers is a whole number. /
Tt UTghd TReATaft Bt AT THReUdT U ot TRe g1t g |

4. The predecessor of the first two digit number is always a single digit number. /
UG &I el ) BT B Ydac TReAT gHRMN U b 1g T giell g |

Correct Answer :-

« 0 is a counting number but not a natural number. /

0 U UM 17 TRSAT 8, Afh Teb UTghd TReaT T8l 7 |

7) Which one of the following statements is true about integer? /
fFafafae % @ S19-91 vYF [uife & T4y § 9™ 32
1. On dividing a negative integer by a negative integer we get a negative integer. /

TP BUTHS QUi Bl T BUTHD QI J fAUTRIT B TR 89 HUNeTd quiies U il §
2. On subtracting a negative integer from a positive integer we get a positive integer. /

TH YIS QUITSh o U HUNEHSD YUIfch & B R g1 U YT YT U g1l 3|
3. When a positive integer and negative integer is added we get a negative integer. /

e U YHTAS QUIfes 3R UM QUITH &1 SIST STl ¢ d 89 BN YuTids UTe gidl ¢ |
4. On multiplying a negative integer with a positive integer we get a positive integer. /

T HUMES YUl & W1 Th YT YUTids ! I[0N I R §H YT YUTidh U1 gil & |
Correct Answer :-

» On subtracting a negative integer from a positive integer we get a positive integer. /

TH YIS YOI o U BUTHS QUITH B! ge IR g8 Ud YT s Juifes U gt g |

8) Which one of the following statements is correct about number? /
fFrafafEa § @ $9-91 $Y= SBn & d9Y § I 82
1. Nine is a prime number. /
T T T B 5 |
2. There are only 9 prime numbers below 20. /
20 ¥ I Had 9 U TS |

3. Every number is a multiple and factor of itself. /



T T WY T Teh 0T 37R °Ieeh Bldl!

4. Number of multiples of a given number are finite. /

& 7TE TRe & TUren B TRedT A g g

Correct Answer :-
o Every number is a multiple and factor of itself. /
Tie ST TT BT T T[0T 3R Uedh Bl g

9) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it would
have taken 1 hour less than the scheduled time. And if the train had been slower by 20 km/hr, it
would have taken 6 hours more than the scheduled time. Then the distance covered by the train is:

/
TP 31 U QU 91 | Taal g3 U e gt a1+t 21 afe 29 5 et/ ver A 9ra @ gadt & @Y 98
FRruffa Twa A 1 ge1 w9 At 3 3R afe 37 20 fFhi/ger hft nfa T gt 8 @ Fuffa Toa @ 6 @2 it
AN 3, A T gRT a7 A g6 R
1. 2240 km/
2240 ot
2.2000 km/
2000 fepeit
3. 1050 km/
1050 fopeit
4, 1080 km /

1080 foHt

Correct Answer :-
e 1050 km/
1050 fopet



In the given figure, if #C=40°, then #A and #Bare:
B

A C

& % Y &, A £C=40° B, LAUd £BE:
50°.90¢°

100° 40°
2.

40e.100°

90°_50°
4,

Correct Answer :-
40e=.100°

11)

In a circle centred at “A’, the angle between AB and AD is 80° where points B and D lie on the
circle. If Clies outside the circle and CB and CD are the two tangents . then the value of angle

BCDis ./
A FE ai T dcd H, AB td AD & IS &« HIUT 80° @, o161 fdg B td D ded W
feora §1 afg C gca & seg & g § d2r €B 3R €D & waeiar §. df &1 BCD

& AT B

110°
1.

100°
2.

120°
3.

4 90

Correct Answer :-



12)

AAEBC is an isosceles triangle in which AF = AC. Pis a point inside the AABC such that
APE( is an equilateral triangle If #4 = 30°then find #ABP.

ﬁﬂﬂCWWﬁ@ﬁﬂH%ﬁﬂﬁﬂB=ﬂC 81 AABCH 3T U g P 30 @ €
%apﬂcwm@'ﬁajaﬁl qfe 24 =30°%, dF 2ABP T I

A50
1 45

15°
2.

5@
3.

250
4.

13) 14 ADEF 2D=60°.2F=50° then /

ADEF &, +D=60°+F=50°ar:
1. FE>DF>DE
2. DE=FE=FD
3. DE<DF<EF
4. DE<FE<DF

Correct Answer :-

e DE<FE<DF

14)

Ifthe sum of the squares of zeroes of polynomial 6x? + x + k is % ,then the value of kis .

aﬁagﬂtex2+x+ké;aﬁ$‘ia?aﬁfﬂam§ gal k&r AT B

1, 72



£
, 2
3.2

4.3

Correct Answer :-

., 2
15) , 1 1
Find the value of x* + = when x — == 2
Jd x—- =28, a x?+ S & AT A W
1.2
2.8
3.6
4.4

Correct Answer :-

16)

Ifthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80°, then £POA = .

gig vk fdg P & Ut “O" &g arell U ded &1 aF Taef Y@¢ PA @ PB Tdh-g@Ey @
80° & ®IvT W WA §, ar zPoA= |

80°
1.

50°
2.

250
3.

30°
4.

Correct Answer :-

50°



17)

The average temperature of Mondav, Tuesday and Wednesday was 40°C. The average
temperature of Tuesdav, Wednesday and Thursdav was 41°C. Ifthe temperature on Thursday
was 42°C, what was the temperature on Mondav?

HIHAR, AR U4 gUaR & 3iad argae 40°C A1) AIeaR, g9aR Ud 7aR &l
sra am#ATT 41°C om I IFER FT AT9ART 42°C o, dF HHAGR HF d9A= fhde
or?

41°C
1.

38°C
2.

40°C
3.

30
4.

Correct Answer :-

39°C
18)
Find #FA+ 2D & £B + £C of a cyclic quadrilateral ABCD in which
LA=3x-1.sB=y2 sC=2%+6&sD=5z+7 1
U Tehig Igsiel ABCDH £A +./DUd £B+2C AT &,
o LA =3x-1, /B=v2, sC=2y+6Td +D=5x+7 &I
2067, 154°
1.
200°, 160°
2.
175°, 185°
3.

168°, 192°

Correct Answer :-

206°, 154°



19)  An exterior angle of a triangle is 135% and its two interior opposite
angles are equal. Each of these equal angle is:

T TS T 9 HIOT 135° § TN $6E &1 Id: TEIE HIOT
AW &1 58 T I3F I &

47 ¥
1.

52 ¥4°
2.

67 ¥4
3.

450
4,

Correct Answer :-

67 150

20)
Find the value of x in the given figure.

0 50/\25
B C

A
/& TS AT H, x FT AT AT

130°

85°

110°

Q0°

4.

Correct Answer :-

85°



21) . . 5
The property that allows to calculate G x i) + (i X i) = ; is= .t

11 3 11
ar Fle @ aor § & (Exi) +(5xﬁ}=5 & IOTAT d IFAT el b

1. Associative property /
e IO

2. Distributive property /
facor o1

3. Closure property /
e o1

4. Commutative property /
EICIEEpRIW|

Correct Answer :-

« Distributive property /

22)
In AABC, 2C =90° , BC=AC=3y/2 ,then AB= ./

AABC #, 2C=90° , BC=AC=3/2 . dTAB=_

1.5
2.7
3.8

4.6

Correct Answer :-

23
) In a quadnlateral ABCD, #+A+ 2Cistwo times £B+2D_If

£A=140° and £ D=60° , then £C=?
U& Il ABCDH. £A +£C, £B + 24D &7 SR 1
afg £A=140°3R £D=60°dr 2C=?



1.
100°
2.
g0e
3.
120
4,

Correct Answer :-

100°

24)

Geetha had Es 600.She spends% of her monev on note- books, é of the remainder on

stationary items and % of the remainder on cosmetics. How much money is left with her?
AT & 9 600 T | TF Alegd T TS N & -, A@d A W AT F - 3R
WWW&WH%@W%I 39 9 fohaelt i 9w a=r 27

1. Rs 120/
120 %4U
2. Rs 200/
200 ®4u
3.Rs 300/
300 »UUl
4. Rs 320/

320%4U7

Correct Answer :-

e Rs200/

25) Choose the number not divisible by 11. /
11 A fyyrfora 7S 817 el T &1 399 B}

1. 1230321



2. 50169306
3. 902154

4. 6138165

Correct Answer :-

e 1230321

26) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another
parallelogram PQRS. If the area of PQRS is 20 cm?, then the area of ABCD is i

ABCD T& TR Igyel § 9UT ABCD & YiI3fi & Heafdg faass T 31 AR agys PQRS &1 faafor
Fedl 31 afe PQRS FT &wa 20 WHi2 §, dt ABCD HT &F®a B

1. 80 cm? / 80 T2

2. 40 cm? / 40 T2

3. 100 cm? / 100 IH12
4. 1600 cm? / 1600 THT2

Correct Answer :-

« 40 cm? /40 TH2

27) A numeral is the ./

TS WSS gl

1. position of an element in a sequence / Ydh 3{Jch H ff U dcd ﬁ @‘Iﬁf
2. symbol to represent a number/Wﬂ@T%qﬁfﬁﬁlaWW

3. cardinality of a set / Udh JH=Y &t JHAdl

4. none of the above / \SLR\IOK‘I f[@f Ob\lsr'_‘lﬁ

Correct Answer :-

« symbol to represent a number/WW%qﬁﬁﬁlamm

28) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /

T% UPbe T 100 FFIW 21 Afe Tdhel 3t 6@ 'm’ B, A FPIoI B Hot JBAT Y e o qovar 3:



2. 100m
3.100 + m

4. 100-m

Correct Answer :-

« 100m

29) ‘Gitika’ by Aryabhata is a collection of: /

3riag gRTURga i@ 1 7@ W5 2|

1. Kalakiya — Work on time and measure / HTAPIT-THY 3R ATGH W BRI
2. Problems on Arithmetic / 3BT TR Feraif

3. Gola (Sphere) / HiSIUE)

4. Astronomical tables / A ?‘lTI%‘IWIﬁ

Correct Answer :-

e Astronomical tables /@'ﬁ?ﬁ'q (‘III%’WF&

30) Micro Teaching technique was brought to India by ./

Ge&H AT (W51 IR dop-iep, URd | SRT @13 3 A
1. Atkinson / QE'W
2. B.K . Passi / S, URdT

3. Allen / UcdH
4. Anderson / Q. S

Correct Answer :-

e B.K. Passi /@[% oIS

31) Unit plan for teaching mathematics is done in the ./

Tfora Rreror & g 318 AT | @1 ATt g
1. post-instructional phase / th“e—&r:],%mm IROT



2. pre-instructional phase / Oi-3 ':J,&QII(HCT) RU]
3. teaching-learning phase / fRr&r0T- 31fRTH =Rur
4. evaluation phase / HedTdh+ TRU]

Correct Answer :-

e pre-instructional phase / -3 'j,aQI [Hop TrU]

32) Thorndike's ‘Law of Readiness’ is made use of in the / ?ﬂﬁ@ﬂw & "dURAT BT
raw &1 Iug H far wirar g1

1. Unit Plan / 313 JIoiT

2. Lesson Plan / UT& OIS

3. Home Work / 7§ Eap|

4. Preparation of objectives / B%'-‘R:I}f EAKRIR]

Correct Answer :-

e Lesson Plan / UTd OIS

33) 2x+3y=10 has: /

2x+3y=10 T:

1. No solution /
PIS B T8I ¢

2. A unique solution /
U5 faRw g B

3. Only two solutions /
EEREARS I

4. Infinitely many solutions /
I EU Y TS 5 o

Correct Answer :-

« Infinitely many solutions /

3Fd U BS g



34) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in
four ways -

1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as /

STt & a1y gafea gafafa = Fafta srefaal @ Yarfm a9 o 9= & e IR
TP I Ugd §¢ -

1. gofayquf

2. gfaded

3. IUPH

4. AgTd

W FErdTETEL

1. Technique of approximation / gfAdhed &l dbidh

2. Technique of mathematization / IO hUT D db-Ih
3. Technique of quantization / gRATIfHR I dh-iidh
4. Technique of ideation / IEEIRUEIGERIED

Correct Answer :-

o Technique of quantization / gRATIHR T dh-ildh

35) Choose the pair that is not twin prime. /
I T PTG B Sl WY U T8 21
1. (91, 93)

2. (59, 61)

3. (41, 43)

4. (101, 103)

Correct Answer :-

« (91,93)

36) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the
distance between PQ and RS is: /



gfe PQ 3R RS G RTER 3R FHIGR ST §, % ° PQ B g3l 5 I §, d PQ 3R RS & &g 3t gt e 8:
1.10 cm/
10 Gt
2.25cm/
25 gt
3.2.5cm/
2.5 44l
4.5cm/

5 99T

Correct Answer :-
e 10cm/

10 9|t

37) Vedanga jyotisha in astronomy was compiled in 1200BC by ./

Gd fagF H dgiTsaifau ®l 1200 SATQE A GRT Aopfera fobar T ATl
1. Aryabhatta / IS

2. Sulbakar / GeaTHR

3. Bandyama / §G09

4. Lagadha / &ITT

Correct Answer :-

» Lagadha / <TTT

38) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the
sector is: /

U WS & 917 B! dars 22 A o TS &1 &% 231 i A g, @S TR A= 2:

60°



90"

Correct Answer :-
60°

39) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis ./
3 gt Y a1 ST 2:3 €, A 3% &TEd BT AU gl

1.2:3

2.4:9

3.3:2

4, 9:4

Correct Answer :-

40) One of the objectives stated below is not measurable and that is: /

i fou U el A & v Aroa AE ® ek ug gl
1. To develop critical thinking. / 7Tg- RaT &l fasRd FH & ﬁfq
2. To identify their shapes in the nature. / W T 39! 31'@%@[ Pl PREIGI CRCE: %I'Q

3. To illustrate equal sets / THTH T 1 RS HRA o felT

4. To recognize rational numbers. / dé(—i‘ld HMIG‘hﬁ Ugdl- Cb*@l %1%112

Correct Answer :-

» To develop critical thinking. / 7Tg- IEREEARGEARE] W%ﬁ‘ﬂ

41) Which of the following is an open-ended question? /
fFrafafaa # A 19 te Nu-tSs Uy 82

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JU[ & O P

50 30
g1 3P U GHIfad Jeaa! 31 8 Tohd g2




2. Area of a square is 400 cm?. What are the possible values for the side of the square?

/ T% T BT A 400 THI2 B | T P YT & o GHIiad A FT 62

3. Prove that the square of an even numbers is even. / |%I@ & foo TH le&ﬁmaﬁ

JAEAT g
4. State Pythagoras theorem /WWW@WI

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / S{JUNI & U

%d 50 3T
g1 3P U GHIfad Jeaa! 31 8 9ohd &2

42) ‘Mathematics is the mirror of civilization’ was stated by: /

ATFOTT AT BT UV § I’ ST GIRT HET 4T

1. Newton / gcd

2. Euclid /m
3. Hogben /_El'\ll"Ta:[
4. Plato /@ﬁ

Correct Answer :-

« Hogben /EU'ITIaq

43) CANCELLED

Who among the four is not a non-Euclidean? /
IRl # J $iF U IR-gfFarsad 181 82

1. Renaissance / JASITRUT (RAw=)

2. Bolyai / SIedTg

3. Lobachevsky / iacioqd!

4. Enclid / TldRTS

Correct Answer :-



« Enclid / TAfeaS

44) Which one of the following statements is true about power/exponent? /
frafafad & & S19-91 $Y= 9ra/91die & 66y § 99 82
1. In 102, 10 is the power and 2 the exponent /
102 %, 10 ©1d 3R 2 UTdib &
2. (5a)° = 5a°
3. 10000 is the exponential form of 104/
10000, 10* &1 TS =T §

4. 216 is the third power of 6 /

216, 6 BTN UG &

Correct Answer :-
e 216 is the third power of 6/

216, 6 BT AR UG &

45) CANCELLED

Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and wa’'al
mugqabala is and , respectively. /

g Algebra, al-gebra =al-jebr wa'almuqabala ?I aljebr 3R wa‘al mugqabala & qA™ eq] BT
3dTg 3R gl

1. restoration , reduction / YT:RITU-, YcTd

2. restoration , challenging / YT ®ITY, ﬁ?ﬁ
3. restoration , proving / J1: &4, Rig Al

4. balancing, solving / ¥, JHIYM

Correct Answer :-

« restoration , reduction / G1: &4, YTd

46) CANCELLED

If the mean of “1'*2%3: is 4, then the mean of 2xy,2%3,2%3 is ./



3.8

4.6

Correct Answer :-

47) CANCELLED

If one zero of the quadratic polynomial is x*2+3x+k is 2, then the value of k= ./

Tfe feaTd 98US x A 24 3x+k BT TH LAP 28, AWK BTHM = |

1. —10

V10
2.

3.10

4.5

Correct Answer :-

48) CANCELLED

Which of the following is not under remembering objective? /
fFrafafea o | #19 Ry fawg & sdfa =8l sman 82
1. Measures accurately / YTy AT BT

2. None of the above / SWRIGdd I qo\lgﬂ—(,p[
3. Recall term /mwﬂnm&:

4. Recognizes formula / A Ue -l

Correct Answer :-

« Measures accurately / YT ATYT HAT



49) CANCELLED

A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle
ABCD is formed, find D’s position. /

A,B,CTE D (12, 2), (16, 4), (18, 8) T (2a, 6) W fRua &1 afe fagan <! firamar wme ot v 3maa ABCp a9
ST 8, @ p 9 fRUfS Jra HI

1. (14, 6)
2. (13, 6)
3. (11, 6)
4. (12, 6)
Correct Answer :-
» (14, 6)
50) CANCELLED

Which of the following formula holds good for zeros of a quadratic polynomial? /
Fafafaa % @ #1999 fgard 9gue & = & 981 a¥tes 3 ufeufya swar g2

1. Product of zeros = coefficient of x/constant term /

[ BT [UH= x HT 0N/ 3R Ug

2. Product of zeros = Constant term/coefficient of x /
YA DI M= 3R UG/ x BT YUl

3. Sum of zeros = -(Coefficient of xz)/coefﬁcient of x /
[ 1 A=~ x? 1 J0D)/ x BT 00

4. Sum of zeros = -(Coefficient of x)/coefficient of x /
[ BT GMT=-( x BT )/ x2 FT [0l

Correct Answer :-

+ Sum of zeros = -(Coefficient of x)/coefficient of x2 /

TR P ANMT=-( x BT UIP)/ x2 BT OlH

51) CANCELLED

Pythagoras established the order called )



USUNIRE A A& IS B VT fbar|
1. Figurative numbers / N INEAIREZRSEE ||

2. Brotherhood / SaXg S

3. Pythagoreans / tn's’tmﬂw

4. Mathematics / TTOTGI

Correct Answer :-

» Pythagoreans / USYNIRY

52) CANCELLED

Choose the correct statement about integers. /

quifenl & fawg & 9dt 4= &1 999 L

1. Subtraction is commutative for integers /
gera quifes & forg fafaasiier giar g

2. Addition is associative for all integers /

grr @t quifept & fog geantt grar g |

3. Division is associative for all integers except 0 /
U o 3! SewR Tt guifet & foe wre=d grar g1

4. Whole number are closed under addition & subtraction /

quf TR AT 3R TeTd F Sidid Siavg gl 3|

Correct Answer :-

» Addition is associative for all integers /

g gt quiien! o forg Fgart giar |
53) CANCELLED
What will be the sign of the product if we multiply together:
1. 9 negative integers and 4 positive integers
2. 5 negative integers and 5 positive integers
3. 4 negative integers and 7 positive integers

4. 8 negative integers and 5 positive integers



5. (-3), 2n times, n is a natural number. /

gfe gW 3¢ MU H I[N $=d § a1 U $T RIg Fa1 gRm:
1. 9 BUTHS YUITP 3 4 YIS QUIIH

2. 5 BUTHS QUITP 3R 5 YTHS YUIH

3. 4 BUMTHS QUITH 3R 7 YATHS QUi

4. 8 BUTHP YUITh 3R 5 YATHS YUITD

(-3), 2n SR, n TS UIHd =T |

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — YATHD, ii — BUIMHD, iii — BUNHD, iv — YUATHD, v — BUTHD

2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /

i — eFTHD, ii — BUTHD, i — BUTHD, iv — YTHD, v — YATHD

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUNHD, ii — BUTHD, iii — YATHD, iv — YITHD, v — YATHD

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i — BUIMHD, ii — BUMHD, iii — BUMHD, iv — YAIHD, v — YATHD

Correct Answer :-

e i—negative, ii — negative, iii — positive, iv — positive, v —positive /

i — SBUTHD, ii — FBUTHD, iii — YD, iv — YATHB, v — YD
54) CANCELLED

Which of the following is the multiplicative identity in the set of whole humbers?

/
Frafafad 9 @ s9-a1 7ol Jenst & Ig=a § uids GuEudr 8?2
1.1
2. All whole numbers /
T2t gof Temd
3.0
4. -1
Correct Answer :-

e 1



55) CANCELLED

When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real numbers,
then which of the following is true?/

gfe N Tt urpa wemsit &1 ve wg=y 8, W 9 quifet @1 9= 8, 2 9t anafae Sensi &1 aq=m g,
@t Frfifaa 4 @ S-ar 9 22

RcZcCcWcCN
1.

WCNcRcCZ
2.

NcZcWcR
3.

NcWcZcR
4,

Correct Answer :-
NcWcZcR

56) CANCELLED

Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is 4
cm. /

T quag Ry iR te Fafta tays #t okt &1 9 39 %, Rrget a1 yod 4 9 71
1.32cm/
32 gt
2.252 cm/
252 9!
3.36 cm/

36 JHT

4. 62 cm/
62 AT

Correct Answer :-
e 32 cm/
32 At



57) CANCELLED
Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
Ay &1 ufvag gma #, st Yo 4 ez, 5 ez ol 60 I T
1. 69 meter /
69 HIcX
2. 9.6 meter /
9.6 HIcX
3. 3600 meter /

3600 HICX

4, 6.9 meter/
6.9 ﬂ'aq

Correct Answer :-

e 9.6 meter/

9.6 Hiex

58) CANCELLED

In a right angled triangle the square of the hypotenuse is twice the product of the other two sides.
Find one of the angles of the triangle. /

TH FHH By & Bl &1 @t 3o Y Yot & YU BT ST ] 1 Y & Hion & A U 1 B

60°

Correct Answer :-

59) Express 15625 as a power of 5. / 5 & °Id &4 # 15625 &I oUad B |



1.4°
2.5°
3.5°
4. 6°

Correct Answer :-

60) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) Td B(-3,5) T® 90 & &N & Sifaw fig &1 g9 &1 Fx 9d +¢ |

1. (5,0)

2. (6,5)

3.(3,0)

4. (0,5)

Correct Answer :-



